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3. HIF27
1) Surge Test
7|E9] ACYEEHO] ot DC A A3 LINESO MHEAQ| Surges Q17tst0]
Fieldof| 24 %= Surge’d EOS Aj#
2) 3 18 (Combination waveform : Ma} MR E A0 217}

Mot (open- circuit) 1.2/50us + ™21t (short-circuit) 8/20ps
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Front times Ty = 1.26 x T, =803 20 %
Front tme: Ty = 1,67 % T=12ps +90% Dusstion: Ty = 1,18 x Ty = 204s +20%

Duration. Ty = Ty = 50us £20%

Front time Tf ps Duration Td ps
Open-circuit voltage TI=167xT=1,2:30% Td=Tw=50x20%
Short-circuit current Tf=1,26xTr=8220% Td=1,18xTw=20+20 %
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Surge count : 1 ~ 99993] .
Surge interval : 5 ~ 99S et o b o °
EUT &% : DC35V / 3A Max

LCD Touch &AIO 2 AtE0| He|g

4. ESD vs Surge’d EOS
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